TEXT BOOK EXERCISE 9.4
——————————————

Q. 1. Find the lateral and total surface area
of the cuboid having dimensions. :

() 6ecmx5cmx4cm -’
@) 15mx12mx8m
(i) 8m x 10 m x 8 m.

Solution. (i) Given : 6 cmXx3Scmx4cm
Here,l=6cm,b=5cmandh=4cm
Lateral surface area of the cuboid
2(l+b)xh

2 (6 +5) x 4 cm?
88 cm? Ans,
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area of the cuboid

2U+byxh =2 (5 4 1)
8 m?

2)(27)(8...4
=432 m2 Ans,
Total surface area of the cuboid :

i 2(lxb+bxh+hxz)

=2(15x12+12x8+8x15)
- = 2(180 + 96 + 120) m2
. = 792 m?2 Ans.
(iii) Given : 8m x 10 m x 8m
Here.l=8m,b=10mandh=8m g
Lateral surface area = 2(I+b)Xh

= 2 (8 + 10) x 8 m2

= 2% 18 x 8 m = 288 m?
Total surface area of the cuboid

=2(xb+bxh+hxl
= 2(8x 10+ 10 x 8 + 8 x 8) m?

I

= 2 (80 + 80 + 64) m? = 448 m?

Ans.
Q. 2. Find the lateral and total surface area
of the cubes having edge :
() 8em (@) 12m  @ii) 15 mm.
Solution. (i) Edge of cube (/) = 8 cm

Lateral surface area of cube

= 412 = 4 x (8)? cm?

— 4 x 64 cm? = 256 cm® Ans.
Total surface area of cube

= 62 = 6 x (8)% cm?
(ii) Edge of the cube () = 12m

Lateral surface area of cube 3
= 4% 144 m2=576m2 Ans.

Totalsurfaceareaofcubc g

(iif) Edge of the cube (/) = 15 mm
Lateral surface area of cube
= 41 = 4 x (15)> mm?
= 4 x 225 mm’
= 900 mm? Ans.
Total surface area of cube
= 6/ = 6 x (15> mm’
6 x 225 mm?
= 1350 mm? Ans.
Q. 3. Find the side of a cube whose surface
area is 2400 cm?.
Solution. Surface area of cube = 2400 cm”
- 6 (sidey>= 2400

2400
= (side)? = ——6———=400
= side = J400 cm =20 cm Ams.

Q. 4. Neetu painted the outside of a cabimet

_of measure 3m x 2m x 1.5 m. How much surface
| area she covered if she painted all cabinet

except bottom.
Solution. Here, /=3m,b=2mand h=15m
Surface “area of the cabinet to point except
bottom
=Ixb+2{+b)xI
= @Bx2m+2@+2)Yx15m?
= 6m2+2x5x15m?
“= 6m? + 15 m? =21 m* Ans.
Q. 5. Ashima painted her room of measure
15 m x 12 m x 7 m. How much surface area did
he cover if he painted all except the floor ?
Solution. Length of the room () = IS m
~ Breadth of the room () = 12 m
Height of the room (k) = 7 m
Area of the room to be painted except floor
=Ixb+2(+Dxh
15x12m +2(12 +15) x 7 m?
180 m? + 2 x 27 x 7 m?
180 m? + 378 m?
: = 558 m? Ans.
Q. 6. Manu wants her room to be painted.
If the measures of her room is 20 m x 12 m x

15 m then find the cost of painting the room
except the floor at ¥ 6 per m? ? |

n #



Solution. Length of the room () =20 m
Breadth of the sum () = 12 m
Height of the room (h) = 15 m

Area of room to be painted except floor

[ xb+2(xb)xh

20 x 12 4+ 2 (20 + 12) x 15 m?

240 m? + 64 x 15 m?

240 m? + 960 m? = 1200 m?.

Cost of painting the room = 1200 x ¥ 2

= ¥ 7200 Ans.

Q. 7. A suitcase with measurement 80 cm x
48 cm x 24 cm is to be covered with a cloth.
How many metres of cloth of width 96 cm is
required to cover the suitcase ?

Solution. Here, Length of suitcase (/) = 80 cm

Breadth of suitcase (b) = 48 cm
Height of suitcase (h) = 24 cm

Surface area of suitcase ‘

2(Ixb+bxh+hxl

2 (80 x 48 + 48 x 24 + 24 x

80) cm?
= 2 (3840 + 1152 + 1920) cm?
= 2 x 6912 cm? = 13824 cm?

Length of the cloth of width 96 cm required to
cover suitcase

i

1 3824
96

Q. 8. What will happen to the surface area
of a cube if its edge is (i) tripled (ii) halved ?

Solution. Let each edge of the cube = /
. Its surface area = 6/2 square unit

(i) When the edge tripled

. Edge of new cube = 3/ unit

New surface area of cube = 6 x (31)% square
unit

= 144 cm Ans.

= 6 x 9 = 5412 square unit
Hencc if the edge of the cube is tripled,
= 9 x (6/)?
= 9 x Surface area of lesser cube
Hence, if the edge of the cube is tripled, then
the surface area increased by 9 times,

[
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= — | uni
(if) New edge of the cube 2 unit

Surface area of the new cube

2
- 6(-;—1) square unit

1
6><—‘1Il2 square unit = 2(12)

Hence, if edge of the cube is halved the are of

new cube is one fourth.
Q. 9. Three cubes each of side 5 cm ar,
joined end to end. Find the surface area of the

cuboid so formed.
Solution. Each side of cube = 5 cm

When three cubes are joined then,
Length of cuboid = 5cm+ 5 cm + 5cm

= 15 cm
Breadth of cuboid = 5 cm
5 cm

" Height of cuboid =

5cm 5cm S5cm

Thus, the surface area of cuboid
=2(A5x5+5x5+5
P lS)cn-'
=2(75+25+75) cm®
= 350 cm? Ans.

Q. 10. Find the curved and total surface “
of a cylinder whose dimensions are :

() r=7cm, h = 20 cm

@) r=14cm h=15m
(i) diameter = 7 cm, h = 12 cm.
Solution, (i) Here, r = 7 cm, h = 20 cm
Curved surface area of the cylinder = 2ztrh

22 .
= 2><-7-><7><20cm2

= 880 cm? Ans,
Total surface area of the cylinder
= 2nr (h +r)



.82
= 2x~7~x7(2()+7)cm2
= 44x27 cm?

) = 1188 cm? Anps,
(ii) Here, r = l4em, h = 15 em
Curved surface area of the cylinder

= 27[rh=2)('277'2* X 14 x 15 m?

= 1320 cm? Ans,
Total surface area of cylinder

= 2nr (h + r)

22
2><-7- x 14 x (15 + 14)

22
= 2><7 x 14 x 29

= 2552 cm? Ans.
(iti) Here, diameter = 7 cm
Curved surface area of cylinder

22 7
= 2trh=2x — x —
T P 7 ><2

= 264 cm? Ans.
Total surface area of cylinder

x 12 cm?

2nr (h+ 1) =2 x 2X
= r(+r)--><72

7T -
(L) e

7+24) 2
cm
2

s

22x221cm2 = 341 cm? Ans.

Q. 11. Find the curved surface area of a
cylinder whose circumference of the base is 77
¢m and t is 12 cm.

Soluﬂ:.:.gl(il‘ircumfcrcncc of the base = 77 cm

Height = 12 cm
Curved surface area of cylinder
= Circumference X 1
= 77 x 12 cm?
=~ 924 cm? Ans.

hose
Q. 12. Find the radius c;f cylil:lecilge’:'tr'z -
C“Wedmrfacearealsloﬁan an

inder
Solution. Curved surface area of cylinde

= 1056 cm? |
Height of the cylinder = 12 cm
: arh = 1056
2xz;erl2 = 1056
1056 x 7
o . r= 4axi12
= 14 cm Ans.

Q. 13. Find the height of cylinder ww
radius is 7 cm and total surface area is 968 o

Solution. Radius (r) = 7 cm )
Total surface area = 968 cm
27ar (h +r) = 968
2
= 2X -2,7 x7 (h+7) = 968
44 (h+7) = 968
968
= ——'—"—22
h+7 By
h=22-7=15cm
Hence, height of cylinder = 15 cm

Q. 14. A cylindrical pipe open from both
sides has radius 21 cm and height 50 cm. What
is its surface area ? ‘ :

Solution. Here, radius (r) = 21 cm

_ Height (h) = 50 cm
Surface area of cylinder = 2arh
22
% 2. '7 x 21 %
50 cm
= 6600 cm? Ans.

Q. 15. A road roller takes 950 complete
revolutions to move once over to level a road.
Find the area of road leveled if the diameter of
road roller is 84 cm and length is 1 m.

Solution. Radius of the road roller (r)

84

— c—
—

> = 42 cm
Height of the road roller (h)=1m= 100 cm



Curved surface are 2
a of the cylindrical road
roller Y * o 2x%2— x 7 % (3 +7) m?
22 - 2=
= 2x 2x42%100 em? = 44x10m 440 m?
il Rate of metal sheet
= 26400 cm? = 7 20 per m?
. Area covered in 1 revolution . Cost of the tank
= T 20 % 440 = T 8800 Ans.
= 26400 cm? = o0 112
= 10,000 Q. 17. Multiple Choice Questions :
= 2.64 m? (i) Lateral surface area of cube is :
Area of road = Area covered in 950 revolutions (a) 617 ) St
= 950 x 2.64 m? () 4 @ 21~
= 2508 m? Ans. (ii) Curved surface area of cylinder is :
Q. 16. A closed cylindrical tank of radius 7 (a) 2mrh “ $0) it
;:h%h3-hmfmasmuml (c) 2mr (@ wrth.
i il:::to(talkifrateofmetalsb&tis (iii) If the edge of a cube is doubled then w
P"_ . : will happen to the surface area ?
Soﬁm.' Hae,@mofq-hndrkalmk=7m (a) 2 times (b) 4 times
Height of the cylindrical tank = 3 m ' (c) 3 times (d) Half.
Total snrfaie area of the cylindrical tank Ans. (i) (c) 412 (ii) (a) 2nrh
= 2ar(h +r) . (iii) (b) 4 times.



